RH3EE

LEMEREKEAM—THs

= R
Bt | =a | Bhmk]| BE £ RE | BE
T8 DIIRAED B ~HT4E3A31H
£BES
X B M =

AEFL. LESRERAHDET CHKiE (hRFREVBAR ZEOHE
WEZHFEOMFERICHDELGCRTEORZTL. HEWRZHRHFEEMAICEL To4
EXEITIXEBTH D,

(ZHRE]
HEUINRERNE Y X T LIRET

(1)
(2) HEINZREHIERRT
(3) X¥HITEE

——d ol
e




EBHERAEARNRRK

% 5 WE|H M £ s =

1. BRI

(1) BEEAHGE 1| =

(2) BEERE 1| =

EERM &

2. EER{E

(1) Zoih/z{f 1 R (EEAEE)X a/(1-a) a=35%
3. ¥R 1 = (& 35 ) + (RS & /3 )
4. —REHESE 1| =& ((#KRfM)x B/(1-B) B =35%
5. XM 1 = (EHBRMm+(—REERESE)
6. HENHHELEE 1] =® (ZEFEMAE) % 10%
7. ¥BEFH (EBMR)FTCHERE L)

L EEEER N




¥ B A AN R &

EEALE
B OB & W we | B @ i

HERB RS 2T LIRE 1

HE IS B BRI 1

EHITEE 1




N R =

EEAGE HEIRZ R EY AT LIRET
W B wE| B M L= i # &
HMEINZHRE S AT LR 1l =
NI SN N




N R =

EEAGE £ IR 32 5% i 84 3 SR AR BT
W B BHE|E M L i & # &
8 IR 32 5% fim 5 B SR ARG 1l =




N R =

M
S
—
op
ps

EEAGE
&

i

B L= i -

=)

m
%
il

18

XBHTEE




